Game 16 - Round 1 – Toss-Ups #1-20

1. Which island, formerly known as Yezo, contains the cities of Kushiro and Sapporo and is Japan’s second largest island next to Honshu?
ANSWER: Hokkaido
2. Characterized by gently sloping sides, what type of volcano, exemplified by Fernandina and Mauna Loa, consists of perhaps hundreds of layers of lava? 
ANSWER: shield volcanoes
3.(15 sec.) How many combinations of three different objects can be selected from a set of eight objects?
ANSWER: 56 (prompt on 8C3 ) (read: eight C three) 
4. Which poem, a work of T.S. Eliot, compares the night of an upper-class dinner party to a “patient etherized upon a table”? 

ANSWER: “The Love Song of J. Alfred Prufrock”
5. Which philosophical concept, adapted to Judaism by Philo and used extensively in the Gospel of John, is described as divine reason responsible for the order of the universe? 
ANSWER: logos
6. In genetics, what adjective is used to describe a trait that is determined by a combination of genes as opposed to a single gene?
ANSWER: polygenic trait
7. Which 17th century German composer of Hexachordum Apollinus is best known for his Canon in D Major? 
ANSWER: Johann Pachelbel
8. The first Indian-American to serve as governor of a state, which Republican politician currently serves as the governor of Louisiana? 
ANSWER: Bobby Jindal
9. How many total solutions, real and imaginary, does the equation x4 + 3x3 – x2 + 7x – 1 = 0 (x to the fourth plus three x cubed minus x squared plus seven x minus one) have?
ANSWER: four
10. Also called the Pact of Paris, which 1928 treaty was signed by the U.S., France, and thirteen other nations pledging to outlaw war? 

ANSWER: Kellogg-Briand Pact
11. Identify the tense of the verb in the following sentence: Terry had been going to Europe every summer since he was a boy. 
ANSWER: past perfect progressive
12. Which structures, which work to relieve pressure on the eardrums, run to the middle ears from the nasophranyx? (NAY-zo-FAIR-inks)
ANSWER: Eustachian tubes
13. If f(x) = x3 + x + 1, find f(2). (If f of x equals x cubed plus x plus one, find f of 2.)
ANSWER: f(2) = 11
14. Which author of Harlot’s Ghost wrote about murderer Gary Gilmore in The Executioner’s Song?

ANSWER: Norman Mailer
15. Which American naval commander, the victor of the 1813 Battle of Lake Erie, sent a famous telegram during the battle reading “We have met the enemy, and they are ours.”?
ANSWER: Oliver Hazard Perry
16. Which mathematician, author of the Elements and formulator of the unprovable Parallel Postulate, is the namesake of flat-surface geometry? 
ANSWER: Euclid
17. Which South American civilization honored such deities as the sun god Inti and the creator god Viracocha (VEE-ra-CO-chuh)? 
ANSWER: Incan civilization or Incas
18. Which year saw the reigns of Roman Emperors Galba, Otho, Vitellius, and Vespasian, giving rise to its common designation “Year of the Four Emperors”?
ANSWER: 69 AD
19. What term refers to the color of the powder left by a mineral when rubbed against a hard, rough surface? 
ANSWER: streak
20. On which island can one find the Wye, Trent, and Severn rivers? 
ANSWER Great Britain
Round 2 – Toss-Ups #21-30

21. (15 sec.) In cubic meters, what is the volume of a box measuring 3 meters by 5 meters by 6 meters? 

ANSWER: 90 cubic meters 
22. Which Soviet leader’s namesake “doctrine” stated that the Soviet Union had the right to interfere in the internal affairs of other Communist nations? 
ANSWER: Leonid Brezhnev
23. Which artist of the American West is known for his bronze sculptures including Comin’ Through the Rye and Bronco Buster? 

ANSWER: Frederic Remington
24. What scientific term refers to the ratio of the density of a substance to the density of water? 
ANSWER: specific gravity
25. In which novel does Maksim Maksimych discuss the character of his titular friend Grigory Pechorin, a work of Mikhail Lermontov? 
ANSWER: A Hero of Our Time
26. Byrd and Bennett made the first flight over this point, although the distinction is disputed today. Name this spot first reached by Henson and Peary (pronounced “Perry”) in 1909. 
ANSWER: North Pole
27. In English grammar, which mood, often expressed by a form of the word “might”, indicates a contingent action that has not yet happened? 
ANSWER: subjunctive mood
28. Often tested for conditional convergence, in which type of series is each successive term marked by a sign change? 

ANSWER: alternating series 
29. Which nation’s extremely successful national soccer team has featured such stars as Gerson, Ronaldhino, and Pele? 
ANSWER: Brazil
30. (15 sec.) In Pascals, how much pressure is exerted on a 100 square meter surface acted upon by a force with magnitude 25 Newtons? 
ANSWER: 4 Pascals
Round 2 – Bonus Questions

History 
Identify each of the following decisions of the U.S. Supreme Court. 

1. This 1866 case declared that military courts could not try individuals for crimes where civil courts were available. 

ANSWER: Ex Parte Milligan
2. This 1996 decision struck down a Colorado law that made laws protecting homosexuals from discrimination illegal. 
ANSWER: Romer v. Evans
3. This 1965 ruling declared that the government may not restrict the use of birth control. 

ANSWER: Griswold v. Connecticut
4. This 1880 decision struck down a West Virginia law that excluded blacks from serving on juries.

ANSWER: Strauder v. West Virginia
Literature

Identify the novel from its first line. 

1. “It is a truth universally acknowledged, that a single man in possession of a good fortune, must be in want of a wife.”

ANSWER: Jane Eyre
2. “A screaming comes across the sky.”

ANSWER: Gravity’s Rainbow
3. “It was a bright, cold day in April, and the clocks were striking thirteen.”

ANSWER: 1984
4. “You don’t know about me without you have read a book by the name of The Adventures of Tom Sawyer, but that ain’t no matter.”

ANSWER: The Adventures of Huckleberry Finn
Math (15 sec. each part) 

Identify the following about the graph of the function f(x) = x2 + 4x + 3. (f of x equals x squared plus four x plus three) 

1. Give the equation of its axis of symmetry. 
ANSWER: x = -2
2. Give the coordinates of its vertex. 

ANSWER: (-2,-1)
3. Find the slope of the tangent line to the graph at the point (-1, 0).
ANSWER: m = 2
4. In how many points does the graph intersect with the graph of the function g(x) = -x – 3? (g of x equals negative x minus three)

ANSWER: 2
The United Nations

Name the nation which the following Secretaries-General of the United Nations represented.

1. U Thant (oo taunt)

ANSWER: Myanmar or Burma
2. Kurt Waldheim (VALD-hime)
ANSWER: Austria
3. Javier Perez de Cuellar (KWAY-yar)

ANSWER: Peru

4. Kofi Annan

ANSWER: Ghana

Round 3 – Lightning Rounds 

History

Given a year and the party for which he ran, name the failed presidential candidate described. 

1. 1856, Republican

ANSWER: John C. Fremont
2. 2004, Democratic

ANSWER: John Kerry
3. 1964, Republican 

ANSWER: Barry Goldwater
4. 1860, Constitutional Union 

ANSWER: John Bell
5. 1936, Republican 

ANSWER: Alf(red) Landon
6. 1888, Democratic

ANSWER: Grover Cleveland
7. 1980, Democratic

ANSWER: James Earl (Jimmy) Carter
8. 1996, Reform 

ANSWER: H. Ross Perot
9. 1804, Federalist

ANSWER: Charles Pinckney
10. 1924, Progressive
ANSWER: Robert LaFollette
Extra: 

11. 1960, Republican 

ANSWER: Richard Milhous Nixon
Astronomy

Given a star, name the constellation in which it can be found. 

1. Sirius

ANSWER: Canis Major
2. Deneb

ANSWER: Cygnus

3. Castor

ANSWER: Gemini

4. Vega

ANSWER: Lyra
5. Arcturus

ANSWER: Bootes

6. Aldebaran

ANSWER: Taurus

7. Betelgeuse

ANSWER: Orion 

8. Acubens

ANSWER: Cancer

9. Antares

ANSWER: Scorpius

10. Polaris

ANSWER: Ursa Minor
Extra: 

11. Altair

ANSWER: Aquila

Literature
Name the author of the following works. 

1. The Winter of Our Discontent
ANSWER: John Steinbeck
2. “The World is Too Much With Us”

ANSWER: William Wordsworth
3. Krapp’s Last Tape
ANSWER: Samuel Beckett
4. The Kitchen God’s Wife
ANSWER: Amy Tan
5. Love in the Time of Cholera
ANSWER: Gabriel Garcia Marquez
6. Speed the Plow
ANSWER: David Mamet
7. A House for Mr. Biswas
ANSWER: V(idiadhar) S(urajprasad) Naipaul
8. Midnight’s Children
ANSWER: Salman Rushdie (RUSH-dee)
9. The Rape of the Lock
ANSWER: Alexander Pope
10. The Crisis
ANSWER: Thomas Paine
Extra: 

11. The Pelican Brief
ANSWER: John Grisham
Round 4 – Toss-Ups #31-50

31. Which river, sites along whose banks include Gangotri glacier and the holy city of Varanasi, is sacred to followers of Hinduism? 
ANSWER: Ganges River
32. Which annual awards are given by the Academy of Television Arts and Sciences to the best performers and technicians in television in the past year? 
ANSWER: the Emmy Awards or the Emmys
33. He wrote of his marriage to the Red Baron’s sister in The Rainbow and Women in Love. Name this controversial author of  Sons and Lovers. 

ANSWER: D(avid) H(erbert) Lawrence
34. Which kind of musical scale, of which major and minor are subtypes, have seven notes per octave? 
ANSWER: diatonic scale
35. In which nation was Mohammed Reza (RAY-zuh) Shah Pahlavi overthrown by the Ayatollah Khomeini in 1979?

ANSWER: Iran
36. This element constitutes nearly 15% of a type of steel called duriron. (dur-EYE-ron) Name this element, the primary constituent of semiconductors, with atomic number 14 and symbol Si. 
ANSWER: silicon
37. In right triangle ABC, angle A measures 30 degrees and side A measures 10 centimeters. In square centimeters, what is the area of triangle ABC? 
ANSWER: 50√3 square centimeters (read: fifty times the square root of 3 or fifty square roots of 3 or fifty radical three)
38. In which novel, in which twin brothers Cal and Aron appear, does Cathy leave her husband Adam Trask to become a prostitute, a work of John Steinbeck? 

ANSWER: East of Eden
39. Containing the eastern portion of Lake Athabasca, which Canadian province containing the cities of Saskatoon and Regina lies between Manitoba and Alberta? 
ANSWER: Saskatchewan
40. The sum of its interior angle measures is 1800 degrees. Name this polygon that has twelve sides. 
ANSWER: dodecahedron
41. Which class of plant hormones controls tropisms along with regulating the growth and development of the leaves, roots, and fruit?
ANSWER: auxins
42. Angered at not being invited to the wedding of Peleus and Thetis, which Greek goddess of discord indirectly caused the Trojan War by throwing a golden apple into a crowd with the inscription, “To the fairest”?
ANSWER: Eris
43. Which two-word term describes a government in which a king or queen’s power is limited by a democratic government, exemplified by Spain, Norway, and Great Britain?
ANSWER: constitutional monarchy
44. By which process, facilitated by high temperatures, changes in pH, or contact with heavy metals, does a protein lose its normal configuration and its ability to bond with other molecules? 

ANSWER: denaturation
45. (15 sec.) What is the value of log2 1/64 (log base two of one over sixty-four)? 

ANSWER: -6
46. In which painting does a pink-clad African servant look on while the title prostitute imitates Titian’s Venus, a work of Eduoard Manet? (man-AY) 

ANSWER: Olympia
47. Which figure of speech, used when one says that one “reads Shakespeare”, substitutes a word or phrase for another to which it bears important relation? 
ANSWER: metonymy
48. What name is given to the unsuccessful mid-17th century revolts of the French nobility against King Louis XIV? 
ANSWER: the Fronde (frond)
49. Which property of the graph of a periodic function is defined as half the vertical distance between a period’s crest and trough? 
ANSWER: amplitude
50. Which leader of the Naturalist school and author of Germinal wrote of the Rougon-Macquart family before defending Albert Dreyfus in his letter J’Accuse?

ANSWER: Emile Zola
Extra Toss-Ups 
1. (15 sec.) Using x as the variable, find the cubic function with the smallest possible real coefficients that has zeroes of -i (negative i) and -2 (negative 2). 

ANSWER: f(x) = x3 + 2x2 + x + 2 (f of x equals x cubed plus two x squared plus x plus two) 
2. He dies in the novel Curtain, forty-nine years after he solved The Murder of Roger Ackroyd. Name this Belgian detective, a creation of Agatha Christie. 

ANSWER: Hercule Poirot (accept either name) (hair-CULE pwah-RO)
3. In chemistry, what name is given to the individual reactions that comprise a proposed reaction mechanism?

ANSWER: elementary steps or elementary reactions (prompt on “step”)
4. The police force of which city famously went on strike in 1919, the handling of which brought national attention to Governor Calvin Coolidge? 

ANSWER: Boston, Massachusetts
5. What early Renaissance artist is best known for his Expulsion from Paradise and The Tribute Money? 

ANSWER: Masaccio or Tommaso di Ser Giovanni di Mone Cassai
6. In which mythological tradition could one find the war goddess Morrigan, the mother goddess Dana, and the hero Cuchulain?

ANSWER: Celtic mythology

7. Which author of the epic poem Africa is better known for a set of sonnets addressed to his beloved Laura? 

ANSWER: Petrarch or Francesco Petrarca
8. In which phylum could one find such organisms as chytrids (KYE-trids) and bread molds? 
ANSWER: Fungi
Extra Bonus: 

Mythology 

Identify the animal as which each of the following Hindu deities, avatars, or creatures is most commonly represented. 

1. Hanuman

ANSWER: monkey
2. Ganesh

ANSWER: elephant
3. Kurma

ANSWER: tortoise or turtle
4. Matsya

ANSWER: great fish
Extra Lightning Round 

Religion 
Name the book of the Bible that directly precedes the following books. 

1. Hosea

ANSWER: Daniel 
2. Ephesians

ANSWER: Galatians

3. Job

ANSWER: Esther 

4. Proverbs

ANSWER: Psalms 

5. I Samuel 

ANSWER: Ruth 

6. Jonah

ANSWER: Obadiah

7. Romans

ANSWER: Acts of the Apostles 

8. Matthew

ANSWER: Malachi
9. Revelation 

ANSWER: Jude

10. Jeremiah

ANSWER: Isaiah

Extra: 

11. Hebrews

ANSWER: Philemon 
